

Boundary Values of Harmonic Functions and Modulus of Continuity (Part I)

Hon-Ming Ho and Kin Y. Li

Department of Mathematics
Hong Kong University of Science and Technology, Hong Kong

This article is distributed under the Creative Commons by-nc-nd Attribution License.
Copyright © 2019 Hikari Ltd.

Abstract

In this paper, we will present a few theorems that will lead us to Theorem 1.3, the first part of which is about a necessary and sufficient condition for a harmonic function u on the open unit disk to be uniquely represented as the Poisson integral of a continuous function f on the unit circle in terms of modulus of continuity.

Mathematics Subject Classification: 30E25

Keywords: Boundary value functions of harmonic functions, modulus of continuity

1 Introduction

Let U denote the open unit disk and T denote the unit circle on the complex plane \mathbf{C} . Let \mathbf{R} denote the set of all real numbers. We will first state a set of definitions about modulus of functions followed by another set of definitions on measure-limit.

Definition 1.1 (a) *The r -th order modulus of continuity of a function $f \in L^p(T)$, $1 \leq p < +\infty$, is defined by*

$$\omega_r(t; f)_p = \sup_{0 \leq h \leq t} \|\Delta_h^r f\|_p,$$

where $(\Delta_h f)(e^{i\theta}) = f(e^{i(\theta+h)}) - f(e^{i\theta})$ and for $r = 1, 2, 3, \dots$ and $t \geq 0$, let

$$(\Delta_h^{r+1} f)(e^{i\theta}) = (\Delta_h(\Delta_h^r f))(e^{i\theta}) = (\Delta_h^r f)(e^{i(\theta+h)}) - (\Delta_h^r f)(e^{i\theta}).$$

When $p = +\infty$, the L^p -norm is replaced by the supremum norm in $C(T)$, i.e. $\omega_r(t; f)_\infty = \sup_{0 \leq h \leq t} \|\Delta_h^r f\|_{C(T)}$, where $t \geq 0$ and $f \in C(T)$.

(b) For a harmonic function $u : U \rightarrow \mathbf{C}$, we define the β -th order harmonic modulus of continuity of u to be $\omega_\beta^*(t; u)_p = \limsup_{r \rightarrow 1^-} \omega_\beta(t; u_r)_p$ for every $p \in [1, +\infty]$, where u_r is the restriction of u to $\partial B(0, r)$.

(c) For a bounded function g on T , the local modulus of continuity of g is defined for every $t \in [0, 2\pi]$ as $\omega(t; \cdot; g) : T \rightarrow \mathbf{R}$ given by

$$\omega(t; e^{i\theta}; g) = \sup_{\alpha_1, \alpha_2 \in [\theta-t/2, \theta+t/2]} |g(e^{i\alpha_1}) - g(e^{i\alpha_2})|.$$

Moreover, the averaged modulus of continuity of g is defined to be

$$\tau(t; g) = \int_T \omega(t; z; g) d\sigma(z) = \|\omega(t; \cdot; g)\|_1$$

for every $t \in [0, 2\pi]$, where σ is the normalized Lebesgue measure on T .

(d) For $u \in \text{Har}(U)$, we define the harmonic averaged modulus of continuity of u to be $\tau^*(t; u) = \limsup_{r \rightarrow 1^-} \tau(t; u^r)$ for every $t \in [0, 2\pi]$.

Definition 1.2 For $g : T \rightarrow \mathbf{C}$ measurable and $z_0 \in T$,

(a) a complex number $L \in \mathbf{C}$ is said to be a measure-limit of g at z_0 if for any $\varepsilon > 0$, there is an open arc $I \subseteq T$ centered at z_0 such that $\sigma(I \cap \{z \in T : |g(z) - L| \geq \varepsilon\}) = 0$,

(b) g is said to have measure-limit everywhere on T if for every $z \in T$, there exists $L \in \mathbf{C}$ such that L is a measure-limit of g at z .

In terms of modulus of continuity, we will give necessary and sufficient conditions for a harmonic function $u : U \rightarrow \mathbf{R}$ to be represented by the Poisson integral of a continuous function or a Riemann integrable function on T . Below we would like to present part (1) of the following theorem and in a subsequent paper, we will present part (2). Here is the main result:

Theorem 1.3 For $u \in \text{Har}(U)$,

(1) $\lim_{t \rightarrow 0^+} \omega_1^*(t; u)_\infty = 0$ iff there is a unique $f \in C(T)$ such that $u = P[f]$,

(2) $\lim_{t \rightarrow 0^+} \tau^*(t; u) = 0$ iff there is a unique $f \in R(T)$ such that $u = P[f]$,

where $P[f]$ denote the Poisson integral of f and $R(T)$ is the class of all Riemann integrable functions on T .

For remarks, we first observe that if $L_1, L_2 \in \mathbf{C}$, are measurable-limits of g at $z_0 \in T$, then $L_1 = L_2$. The reason is as follows. Suppose $L_1 \neq L_2$. Let $\varepsilon_1 = |L_1 - L_2|/2 > 0$ and there are two open arcs $I_1, I_2 \subseteq T$ centered at $z_0 \in T$ such that $\sigma(I_i \cap \{z \in T : |g(z) - L_i| \geq \varepsilon_1\}) = 0$ for $i = 1, 2$. Then

$$\sigma(I_1 \cap I_2 \cap (\{z \in T : |g(z) - L_1| \geq \varepsilon_1\} \cup \{z \in T : |g(z) - L_2| \geq \varepsilon_1\})) = 0.$$

So $|g(z_1) - L_1| < \varepsilon_1$ and $|g(z_1) - L_2| < \varepsilon_1$ for some $z_1 \in I_1 \cap I_2$. Then

$$|L_1 - L_2| \leq |g(z_1) - L_1| + |L_2 - g(z_1)| < 2\varepsilon_1 = |L_1 - L_2|,$$

which is a contradiction. Next we will prove

Theorem 1.4 *For measurable $f^* : T \rightarrow \mathbf{C}$, f^* has measure-limit everywhere on T if and only if there exists a $g \in C(T)$ such that $f^* = g$ a.e. $[\sigma]$ on T . (Note that there exists a $f^* : T \rightarrow \mathbf{C}$ measurable function such that there does not exist any $g \in C(T)$ with $f^* = g$ almost everywhere on T , for example, the characteristic function χ_A where $A = \{e^{i\theta} : 0 \leq \theta \leq \pi\}$.)*

Proof. Suppose that $f^* : T \rightarrow \mathbf{C}$ is measurable and $f^* = g$ a.e. $[\sigma]$ on T for some $g \in C(T)$. Let $e^{i\theta} \in T$ and $\varepsilon_0 > 0$. Then there exists an open arc $I \subseteq T$ centered at $e^{i\theta}$ such that for all $z \in I$, $|g(e^{i\theta}) - g(z)| < \varepsilon_0$. Since $f^* = g$ a.e. $[\sigma]$ on T , for almost all $z \in I$, $|f^*(z) - g(e^{i\theta})| < \varepsilon_0$. So

$$\sigma(I \cap \{z \in T : |f^*(z) - g(e^{i\theta})| \geq \varepsilon_0\}) = 0.$$

Therefore, for every $e^{i\theta} \in T$, $g(e^{i\theta})$ is the measure-limit of f^* at $e^{i\theta}$.

Conversely, suppose $f^* : T \rightarrow \mathbf{C}$ is measurable and f^* has measure-limit everywhere on T . By remark above, f^* has a unique measure-limit at each point $z \in T$. Hence we may define $L : T \rightarrow \mathbf{C}$ by $L(z)$ to be the measure-limit of f^* at z for every $z \in T$.

We claim $f^* \in L^\infty(T)$. To see that take $\varepsilon = 1$. For all $z \in T$, there is an open arc $I_z \subseteq T$ centered at z such that $\sigma(I_z \cap \{\alpha \in T : |f^*(\alpha) - L(z)| \geq \varepsilon\}) = 0$. Since $\{I_z : z \in T\}$ is an open cover of T , by the compactness of T , there exists a finite subset $G \subseteq T$ such that $T = \cup\{I_z : z \in G\}$. Hence, for almost all $\alpha \in T$, $|f^*(\alpha)| < M$, where $M = \max\{1 + |L(w)| : w \in G\}$.

Next we claim that for every $\varepsilon > 0$ and $e^{i\theta} \in T$, there exists an open arc $I \subseteq T$ centered at $e^{i\theta} \in T$ such that for every open arc $I' \subseteq I$ (the center of I' may not be $e^{i\theta}$), we have

$$\left| \frac{\int_{I'} f^*(w) d\sigma(w)}{\sigma(I')} - L(e^{i\theta}) \right| < \varepsilon.$$

By the previous claim $f^* \in L^\infty(T)$, so $\int_{I'} f^*(w) d\sigma(w)$ exists. Let $e^{i\theta} \in T$ and $\varepsilon_0 > 0$. Then there exists an open arc $I \subseteq T$ centered at $e^{i\theta}$ such that

$$\sigma(I \cap \{z \in T : |f^*(z) - L(e^{i\theta})| \geq \varepsilon_0/2\}) = 0.$$

For open arc $I' \subseteq I$, let $A = I' \cap \{z \in T : |f^*(z) - L(e^{i\theta})| < \varepsilon_0/2\}$, $B = I' \cap \{z \in T : |f^*(z) - L(e^{i\theta})| \geq \varepsilon_0/2\}$. Then $\sigma(A) = \sigma(I')$ and $\sigma(B) = 0$. For every open arc $I' \subseteq I$,

$$\begin{aligned} & \left| \frac{\int_{I'} f^*(w) d\sigma(w)}{\sigma(I')} - L(e^{i\theta}) \right| \\ &= \left| \frac{\int_{I'} f^*(w) d\sigma(w) - L(e^{i\theta}) d\sigma(w)}{\sigma(I')} \right| \leq \frac{\int_{I'} |f^*(w) - L(e^{i\theta})| d\sigma(w)}{\sigma(I')} \\ &= \frac{\int_A |f^*(w) - L(e^{i\theta})| d\sigma(w)}{\sigma(I')} + \frac{\int_B |f^*(w) - L(e^{i\theta})| d\sigma(w)}{\sigma(I')} \\ &\leq \frac{\varepsilon_0}{2} \cdot \frac{\sigma(A)}{\sigma(I')} + 0 < \varepsilon_0. \end{aligned}$$

As a consequence, for every $e^{i\theta} \in T$, the limit of $(\int_I f^*(w) d\sigma(w))/\sigma(I)$ goes to $L(e^{i\theta})$ as the open arcs I centered at $e^{i\theta}$ shrink to $e^{i\theta}$.

Next we will show $L : T \rightarrow \mathbf{C}$ is continuous on T . Let $e^{i\theta} \in T$ and $\varepsilon_0 > 0$. By the second claim, we see that there exists an open arc $I \subseteq T$ centered at $e^{i\theta}$ such that for every open arc $I' \subseteq I$ (the center of I' may not be at $e^{i\theta}$),

$$\left| \frac{\int_{I'} f^*(w) d\sigma(w)}{\sigma(I')} - L(e^{i\theta}) \right| < \frac{\varepsilon_0}{2}.$$

Let $w_0 \in I$. By the second claim, there exists an open arc $J \subseteq T$ centered at w_0 such that for every open arc $J' \subseteq J$ centered at w_0 ,

$$\left| \frac{\int_{J'} f^*(w) d\sigma(w)}{\sigma(J')} - L(w_0) \right| < \frac{\varepsilon_0}{2}.$$

Then there exists an open arc $K \subseteq I \cap J$ centered at w_0 . Hence,

$$\begin{aligned} |L(w_0) - L(e^{i\theta})| &\leq \left| L(e^{i\theta}) - \frac{\int_K f^*(w) d\sigma(w)}{\sigma(K)} \right| + \left| \frac{\int_K f^*(w) d\sigma(w)}{\sigma(K)} - L(w_0) \right| \\ &< \frac{\varepsilon_0}{2} + \frac{\varepsilon_0}{2} = \varepsilon_0. \end{aligned}$$

Finally, L is continuous on T . Since $f^* \in L^\infty(T)$, the limit of $\int_I f^*(w) d\sigma(w)/\sigma(I)$ goes to $f^*(e^{i\theta})$ for every Lebesgue point $e^{i\theta}$ of f^* , where the limit is taken as

the open arcs I centered at $e^{i\theta}$ shrink to $e^{i\theta}$. By the third claim, $L = f^*$ a.e. $[\sigma]$ on T and we are done.

Next we recall the following lemma (which can be found from [1], [2], [3]).

Lemma 1.5 *If $f \in L^p(T)$ with $p \in [1, +\infty)$ or $f \in C(T)$ with $p = +\infty$, then for all positive real t , all positive integers β and n , we have $\omega_\beta(nt; f)_p \leq n^\beta \omega_\beta(t; f)_p$.*

Theorem 1.6 *Let $u \in Har(U)$, $p \in [1, +\infty]$ and β be a positive integer. Then*

(a) *for every $t \in [0, 2\pi]$ and $0 \leq r_1 < r_2 < 1$, $\omega_\beta(t; u_{r_1})_p \leq \omega_\beta(t; u_{r_2})_p$.*

(b) *for every $t \in (0, 2\pi]$, $\sup_{r \in (0,1)} \|u_r - u(0)\|_p \leq \left(\frac{4\pi}{t}\right)^\beta \omega_\beta^*(t; u)_p$.*

Proof. (a) Let $u \in Har(U)$ and β be a positive integer. In case $p \in [1, +\infty)$, for every $h \in [0, +\infty)$ and $z \in U$, let $(T_h u)(z) = u(ze^{ih})$, $(Iu)(z) = u(z)$, then

$$((T_h - I)^\beta u) = (\Delta_h^\beta u)(z) = \sum_{j=0}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} u(ze^{ijh}).$$

Hence $\Delta_h^\beta u \in Har(U)$. Then $|\Delta_h^\beta u|$ is a subharmonic function on U . Since x^p is an increasing convex function on $[0, +\infty)$, by Jensen's inequality, $|\Delta_h^\beta u|^p$ is subharmonic on U . By a theorem stated in [4], pp. 337, $\|\Delta_h^\beta u_{r_1}\|_p \leq \|\Delta_h^\beta u_{r_2}\|_p$ for every $h \in [0, +\infty)$, $0 \leq r_1 < r_2 < 1$. So $\omega_\beta(t; u_{r_1})_p \leq \omega_\beta(t; u_{r_2})_p$ for all $t \in [0, +\infty)$ and $0 \leq r_1 < r_2 < 1$.

For $p = +\infty$, since $\Delta_h^\beta u$ is harmonic in U , for all $0 \leq r_1 < r_2 < 1$, $\theta \in \mathbf{R}$,

$$(\Delta_h^\beta u)(r_1 e^{i\theta}) = \frac{1}{2\pi} \int_{t=-\pi}^{t=\pi} \frac{r_2^2 - r_1^2}{r_2^2 - 2r_2 r_1 \cos(\theta - t) + r_1^2} (\Delta_h^\beta u)(r_2 e^{it}) dt.$$

Hence, $\|\Delta_h^\beta u_{r_1}\|_{C(T)} \leq \|\Delta_h^\beta u_{r_2}\|_{C(T)}$. So $\omega_\beta(t; u_{r_1})_\infty \leq \omega_\beta(t; u_{r_2})_\infty$ for all $t \in [0, +\infty)$ and $0 \leq r_1 < r_2 < 1$.

(b) Let $u \in Har(U)$, $p \in [1, +\infty]$, $r \in (0, 1)$, θ be real and β be a positive integer. We have

$$\begin{aligned} & \frac{1}{2\pi} \int_{h=0}^{h=2\pi} (\Delta_h^\beta u_r)(e^{i\theta}) dh \\ &= \frac{1}{2\pi} \int_{h=0}^{h=2\pi} \sum_{j=0}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} u(re^{i\theta} e^{ijh}) dh \end{aligned}$$

$$\begin{aligned}
&= (-1)^\beta u(re^{i\theta}) + \sum_{j=1}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} \frac{1}{2\pi} \frac{1}{j} \int_{w=0}^{w=2j\pi} u(re^{i\theta} e^{iw}) dw \\
&= (-1)^\beta u(re^{i\theta}) + \sum_{j=1}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} u(0) \\
&= (-1)^\beta u(re^{i\theta}) - (-1)^\beta u(0) = (-1)^\beta (u(re^{i\theta}) - u(0)).
\end{aligned}$$

In case $p \in [1, +\infty)$, for every $r \in (0, 1)$,

$$\begin{aligned}
\|u_r - u(0)\|_p &= \left(\frac{1}{2\pi} \int_{\theta=0}^{\theta=2\pi} |u_r(e^{i\theta}) - u(0)|^p d\theta \right)^{1/p} \\
&= \left(\frac{1}{2\pi} \int_{\theta=0}^{\theta=2\pi} \left| \frac{1}{2} \int_{h=0}^{h=2\pi} (\Delta_h^\beta u_r)(e^{i\theta}) dh \right|^p d\theta \right)^{1/p} \\
&\leq \left(\frac{1}{2\pi} \int_{\theta=0}^{\theta=2\pi} \frac{1}{2} \int_{h=0}^{h=2\pi} |(\Delta_h^\beta u_r)(e^{i\theta})|^p dh d\theta \right)^{1/p} \text{ by Jensen} \\
&= \left(\frac{1}{2\pi} \int_{h=0}^{h=2\pi} \frac{1}{2} \int_{\theta=0}^{\theta=2\pi} |(\Delta_h^\beta u_r)(e^{i\theta})|^p d\theta dh \right)^{1/p} \text{ by Fubini} \\
&= \left(\frac{1}{2\pi} \int_{h=0}^{h=2\pi} \|\Delta_h^\beta u_r\|_p^p dh \right)^{1/p}.
\end{aligned}$$

Let $t \in (0, 2\pi]$. Then $\frac{2\pi}{n+1} < t \leq \frac{2\pi}{n}$ for some positive integer n . By lemma 1.5,

$$\begin{aligned}
\omega_\beta(2\pi; u_r)_p &= \omega_\beta\left((n+1)\frac{2\pi}{n+1}; u_r\right)_p \leq (n+1)^\beta \omega_\beta\left(\frac{2\pi}{n+1}; u_r\right)_p \\
&\leq (n+1)^\beta \omega_\beta(t; u_r)_p = \left(\frac{n+1}{n}\right)^\beta n^\beta \omega_\beta(t; u_r)_p \\
&\leq \left(\frac{n+1}{n}\right)^\beta \left(\frac{2\pi}{t}\right)^\beta \omega_\beta(t; u_r)_p \leq \left(\frac{4\pi}{t}\right)^\beta \omega_\beta(t; u_r)_p
\end{aligned}$$

So for every $r \in (0, 1)$,

$$\|u_r - u(0)\|_p \leq \left(\frac{1}{2\pi} \int_{h=0}^{h=2\pi} \|\Delta_h^\beta u_r\|_p^p dh \right)^{1/p} \leq \left(\sup_{0 \leq h \leq 2\pi} \|\Delta_h^\beta u_r\|_p^p \right)^{1/p} \leq (4\pi)^\beta \frac{\omega_\beta(t; u_r)_p}{t^\beta}.$$

Then for every $t \in (0, 2\pi]$,

$$\begin{aligned}
\sup_{r \in (0,1)} \|u_r - u(0)\|_p &\leq \sup_{r \in (0,1)} \left(\frac{4\pi}{t}\right)^\beta \omega_\beta(t; u_r)_p = \left(\frac{4\pi}{t}\right)^\beta \sup_{r \in (0,1)} \omega_\beta(t; u_r)_p \\
&= \left(\frac{4\pi}{t}\right)^\beta \limsup_{r \rightarrow 1^-} \omega_\beta(t; u_r)_p = \left(\frac{4\pi}{t}\right)^\beta \omega_\beta^*(t; u)_p.
\end{aligned}$$

In case $p = +\infty$, for every $r \in (0, 1)$ and real θ ,

$$\begin{aligned}
|u_r(e^{i\theta}) - u(0)| &= \left| \frac{1}{2\pi} \int_{h=0}^{h=2\pi} (\Delta_h^\beta u_r)(e^{i\theta}) dh \right| \leq \frac{1}{2\pi} \int_{h=0}^{h=2\pi} |(\Delta_h^\beta u_r)(e^{i\theta})| dh \\
&\leq \sup_{0 \leq h \leq 2\pi} \|\Delta_h^\beta u_r\|_\infty = \omega_\beta(2\pi; u_r)_\infty.
\end{aligned}$$

So for $r \in (0, 1)$, $\|u_r - u(0)\|_\infty \leq \omega_\beta(2\pi; u_r)_\infty$. Let $t \in (0, 2\pi]$. Similar as above, we have $\omega_\beta(2\pi; u_r)_\infty \leq (4\pi/t)^\beta \omega_\beta(t; u_r)_\infty$. Then for every $t \in (0, 2\pi]$,

$$\begin{aligned}
\sup_{r \in (0,1)} \|u_r - u(0)\|_\infty &\leq \left(\frac{4\pi}{t}\right)^\beta \sup_{r \in (0,1)} \omega_\beta(t; u_r)_\infty = \left(\frac{4\pi}{t}\right)^\beta \limsup_{r \rightarrow 1^-} \omega_\beta(t; u_r)_\infty \\
&= \left(\frac{4\pi}{t}\right)^\beta \omega_\beta^*(t; u)_\infty.
\end{aligned}$$

Theorem 1.7 (a) For $u \in \text{Har}(U)$, $p \in [1, +\infty]$ and positive integer β , if $\omega_\beta^*(t; u)_p = o(t^\beta)$ as $t \rightarrow 0^+$, then u is a constant function on U .

(b) For positive integer β , $f^* \in L^p(T)$ if $p \in [1, +\infty)$ or $f^* \in C(T)$ if $p = +\infty$, we have if $\omega_\beta^*(t; u)_p = o(t^\beta)$ as $t \rightarrow 0^+$, then $f^* : T \rightarrow \mathbf{C}$ is a constant function.

Proof. Part (a) of the theorem follows immediately from Theorem 1.6(b).

For part (b), we claim for all $t \in (0, 2\pi]$, $\omega_\beta^*(t; u)_p = \omega_\beta(t; f^*)_p$, where $u = P[f^*]$ is the Poisson integral of f^* . It is not difficult to show that for $p \in [1, +\infty)$, $\lim_{r \rightarrow 1^-} \|u_r - f^*\|_p = 0$, where u_r is the restriction of $u = P[f^*]$ to $\partial B(0, r)$. Moreover, if $f^* \in C(T)$, then by the uniform continuity of \tilde{u} (\tilde{u} is the continuous extension of u to \bar{U} with $\tilde{u}|_T = f^*$), we get $\lim_{r \rightarrow 1^-} \|u_r - f^*\|_\infty = 0$. For every $h \in [0, +\infty)$, we have for all $z \in U$ and $\omega \in T$,

$$(\Delta_h^\beta u)(z) = \sum_{j=0}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} u(ze^{ijh}), \quad (\Delta_h^\beta f^*)(\omega) = \sum_{j=0}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} f^*(\omega e^{ijh}).$$

So for all $r \in (0, 1)$ and all $e^{i\theta} \in T$,

$$(\Delta_h^\beta u_r)(e^{i\theta}) - (\Delta_h^\beta f^*)(e^{i\theta}) = \sum_{j=0}^{\beta} \binom{\beta}{j} (-1)^{\beta-j} [u_r(e^{i\theta} e^{ijh}) - f^*(e^{i\theta} e^{ijh})].$$

Then for all $r \in (0, 1)$,

$$\|\Delta_h^\beta u_r - \Delta_h^\beta f^*\|_p \leq \sum_{j=0}^{\beta} \binom{\beta}{j} \|u_r - f^*\|_p = 2^\beta \|u_r - f^*\|_p.$$

Therefore, $\lim_{r \rightarrow 1^-} \|\Delta_h^\beta u_r\|_p = \|\Delta_h^\beta f^*\|_p$. By the proof of Theorem 1.6(a), we know for all $h \in [0, +\infty)$ and $0 \leq r_1 < r_2 < 1$, $\|\Delta_h^\beta u_{r_1}\|_p \leq \|\Delta_h^\beta u_{r_2}\|_p$. So $\sup_{r \in (0,1)} \|\Delta_h^\beta u_r\|_p = \lim_{r \rightarrow 1^-} \|\Delta_h^\beta u_r\|_p = \|\Delta_h^\beta f^*\|_p$. Then

$$\begin{aligned} \omega_\beta^*(t; u)_p &= \limsup_{r \rightarrow 1^-} \omega_\beta(t; u_r)_p = \limsup_{r \rightarrow 1^-} \sup_{0 \leq h \leq t} \|\Delta_h^\beta u_r\|_p = \sup_{r \in (0,1)} \sup_{0 \leq h \leq t} \|\Delta_h^\beta u_r\|_p \\ &= \sup_{0 \leq h \leq t} \sup_{r \in (0,1)} \|\Delta_h^\beta u_r\|_p = \sup_{0 \leq h \leq t} \|\Delta_h^\beta f^*\|_p = \omega_\beta(t; f^*)_p. \end{aligned}$$

Finally, suppose that $\omega_\beta(t; f^*)_p = o(t^\beta)$ as $t \rightarrow 0^+$. Then by the previous claim $\omega_\beta^*(t; P[f^*])_p = o(t^\beta)$ as $t \rightarrow 0^+$. By part (a), $P[f^*]$ is a constant function on U . If $p \in [1, +\infty)$, then $P[f^*]$ has non-tangential limit $f^*(e^{i\theta})$ at every Lebesgue point $e^{i\theta}$ of f^* . So f^* is a constant function in $L^p(T)$ (in equivalence class sense). If $p = +\infty$, then $f^* \in C(T)$, $P[f^*]$ has a continuous extension to \bar{U} with f^* as its boundary value function. Therefore, f^* is a constant function on T and we are done.

Remarks. (a) There is a version of the above theorem for the functions defined on closed interval $[a, b]$, namely if $f : [a, b] \rightarrow \mathbf{C}$ and $\omega_\beta(t; f)_p = o(t^\beta)$ as $t \rightarrow 0^+$, then f is a polynomial of degree $\beta - 1$. This result can be found in [1] and [2]. The situation for functions on $[a, b]$ and T are different.

(b) Trigonometric polynomials of degree n are of the form $\sum_{j=-n}^n c_j e^{ij\theta}$, where $|c_n| + |c_{-n}| \neq 0$. Consider $\beta = 2$ and $p \in [1, +\infty]$. Define $f : T \rightarrow \mathbf{C}$ by $f(e^{i\theta}) = c_1 e^{i\theta}$, where $c_1 \neq 0$. Clearly, f is a trigonometric polynomial of degree 1. For every $e^{i\theta}$ and $h \in [0, +\infty)$,

$$\begin{aligned} (\Delta_h^2 f)(e^{i\theta}) &= (\Delta_h f)(e^{i(\theta+h)}) - (\Delta_h f)(e^{i\theta}) = f(e^{i\theta+2h}) - 2f(e^{i(\theta+h)}) + f(e^{i\theta}) \\ &= c_1 e^{i(\theta+2h)} - 2c_1 e^{i(\theta+h)} + c_1 e^{i\theta} = c_1 e^{i\theta} (e^{2ih} - 2e^{ih} + 1). \end{aligned}$$

Then for all $p \in [1, +\infty)$,

$$\|\Delta_h^2 f\|_p = \left(\frac{1}{2\pi} \int_{\theta=0}^{2\pi} |c_1 e^{i\theta} (e^{2ih} - 2e^{ih} + 1)|^p d\theta \right)^{1/p} = |c_1 (e^{2ih} - 2e^{ih} + 1)|.$$

For $p = +\infty$, $\|\Delta_h^2 f\|_\infty = |c_1 (e^{2ih} - 2e^{ih} + 1)|$. By l'Hopital's rule,

$$\lim_{h \rightarrow 0^+} \frac{\|\Delta_h^2 f\|_p}{h^2} = \lim_{h \rightarrow 0^+} \frac{|c_1 (e^{2ih} - 2e^{ih} + 1)|}{h^2} = |c_1| \neq 0.$$

So $\omega_2(t; f)_p \neq o(t^2)$ as $t \rightarrow 0^+$.

Now we are ready to prove one of the main results in the paper.

Theorem 1.8 *For $u \in \text{Har}(U)$, $\lim_{t \rightarrow 0^+} \omega_1^*(t; u)_\infty = 0$ if and only if there is a unique $f^* \in C(T)$ such that $u = P[f^*]$.*

Proof. For the if-direction, let $u : U \rightarrow \mathbf{C}$ be harmonic on U such that there is a unique $f^* \in C(T)$ such that $u = P[f^*]$. In the proof of Theorem 1.7(b), we showed that for all $t \in (0, 2\pi]$, $\omega_1^*(t; u)_\infty = \omega_1(t; f^*)_\infty$. Since $f^* \in C(T)$, i.e. $\lim_{t \rightarrow 0^+} \omega_1(t; f^*)_\infty = 0$, we have $\lim_{t \rightarrow 0^+} \omega_1^*(t; u)_\infty = 0$.

For the only-if direction, let $u : U \rightarrow \mathbf{C}$ be a harmonic function on U such that $\lim_{t \rightarrow 0^+} \omega_1^*(t; u)_\infty = 0$. We claim that u is in fact a bounded harmonic function on U . The proof is as follows. Since $\lim_{t \rightarrow 0^+} \omega_1^*(t; u)_\infty = 0$, let $\varepsilon = 1$, then for all $0 < t < \delta_0$, $\omega_1^*(t; u)_\infty < 1$ is true for some $\delta_0 \in (0, 2\pi)$. Let $t_0 = \delta_0/2$. By Theorem 1.6(b), we have $\sup_{r \in (0,1)} \|u_r - u(0)\|_\infty \leq (4\pi/t_0)\omega_1^*(t_0; u)_\infty$. So $\sup_{r \in (0,1)} \|u_r - u(0)\|_\infty \leq 4\pi/t_0 < +\infty$. Therefore, u is bounded on U and there is a unique $g^* \in L^\infty(T)$ such that $u = P[g^*]$.

Next we claim that g^* has measure-limit everywhere on T . The proof goes as follows. Let $e^{i\theta} \in T$. Suppose $\{r_n\}$ is a sequence of numbers in $(0, 1)$ with limit 1. Since u is a bounded function on U , $\{u_{r_n}(e^{i\theta})\}$ is a bounded sequence in \mathbf{C} . Then there exists a subsequence $\{r_{n_k}\}$ of $\{r_n\}$ such that $\lim_{k \rightarrow \infty} u_{r_{n_k}}(e^{i\theta}) = L$ for some $L \in \mathbf{C}$.

We claim that L is the measure-limit of g^* at $e^{i\theta}$. Let $\varepsilon_0 > 0$. Then for all $t \in (0, \delta_0)$, $\omega_1^*(t; u)_\infty < \varepsilon_0/2$ is true for some $\delta_0 \in (0, 2\pi)$. Now

$$\begin{aligned} \sup_{r \in (0,1)} \sup_{0 \leq h \leq \delta_0/2} \|\Delta_h^1 u_r\|_\infty &= \sup_{r \in (0,1)} \omega_1(\delta_0/2; u_r)_\infty = \limsup_{r \rightarrow 1^-} \omega_1(\delta_0/2; u_r)_\infty \\ &= \omega_1^*(\delta_0/2; u)_\infty < \varepsilon_0/2, \end{aligned}$$

where the second equality is due to Theorem 1.6(a).

Next, we define $I = \{e^{iw} \in T : \theta - \delta_0/2 < w < \theta + \delta_0/2\}$. Then I is an open arc centered at $e^{i\theta}$. Let e^{iw_0} be a Lebesgue point of g^* and $|\theta - w_0| < \delta_0/2$. We have for all $r \in (0, 1)$,

$$|u_r(e^{i\theta}) - u_r(e^{iw_0})| \leq \sup_{0 \leq h \leq \delta_0/2} \|\Delta_h^1 u_r\|_\infty < \varepsilon_0/2.$$

Since e^{iw_0} is a Lebesgue point of g^* , u has non-tangential limit $g^*(e^{iw_0})$ at e^{iw_0} . So as $k \rightarrow \infty$, $u_{r_{n_k}}(e^{iw_0}) \rightarrow g^*(e^{iw_0})$. Moreover, as $k \rightarrow \infty$, $u_{r_{n_k}}(e^{i\theta}) \rightarrow L$ and $|u_{r_{n_k}}(e^{i\theta}) - u_{r_{n_k}}(e^{iw_0})| \rightarrow |L - g^*(e^{iw_0})|$. Therefore, if $z \in I$ and z is a Lebesgue point of g^* , then $|L - g^*(z)| \leq \varepsilon_0/2 < \varepsilon_0$. So

$$\sigma(I \cap \{e^{iw} \in T : |L - g^*(e^{iw})| \geq \varepsilon_0\}) = 0.$$

Finally, by Theorem 1.4, there exists an $f^* \in C(T)$ such that $g^* = f^*$ a.e. $[\sigma]$ on T . Then $u = P[g^*] = P[f^*]$. Therefore, there is a unique $f^* \in C(T)$ such that $u = P[f^*]$, which completes the proof.

Now that Theorem 1.8 (which is part (1) of Theorem 1.3) is proved. We will proceed to the proof of part (2) of Theorem 1.3, which is much longer and we will do a separate paper to cover the details.

References

- [1] R. A. DeVore, *Constructive Approximation*, Springer, Berlin, 1993.
<https://doi.org/10.1007/978-3-662-02888-9>
- [2] Z. Ditzian, V. Totik, *Moduli of Smoothness*, Springer, Berlin, 1987.
<https://doi.org/10.1007/978-1-4612-4778-4>
- [3] V. A. Popov and B. Sendov, *The Averaged Moduli of Smoothness*, Wiley-Interscience Publication, New York, 1988.
- [4] W. Rudin, *Real and Complex Analysis*, 3rd ed. McGraw-Hill, New York, 1987.

Received: July 19, 2019; Published: August 2, 2019